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HRE(En BAEK 1,371 729 2,100
MEEME 186 99 285
54 415 245 660
INEE 601 344 945
H&E(Jap HASK 1,674 425 2,099
HEEE 298 132 430
®%4 918 206 1,124
NE 1,216 338 1,554
=58 (Fre BEa 19 33 52
HMESE 3 2 5
B 2 9 11
NE 5 11 16
ERE(Ge BAEHE 23 42 65
MEEE 3 7 10
ESF 4 15 19
NE 7 22 29
AP 5F( HHEE 15 32 47
MEHT 1 2 3
4 3 12 15
et 4 14 18




Az 41 ( mAAE 5 3 8
BEHE 0 0 0

B4 3 3 6

JNEF 3 3 6

BE5E (Ko mASK 65 44 109
MEHT 9 10 19

=) 35 26 61

INEF 44 36 80

ENEERE( BmASK 7 1 8
BEEE 3 0 3

BY 3 0 3

JNEF 6 0 6

ZREE(Th mREK 0 1 1
MEEE 0 0 0

EEF ) 0 0 0

et 0 0 0

AR mAEK 0 5 5
MEHT 0 2 2

B4 0 1 1

JNEF 0 3 3

{52 (Ru mASK 9 10 19




MEEE 1 1 2

B 5 8 13

JNEE 6 9 15

HEE(Vi HmASKE 1 0 1
MEEE 0 0 0

B 0 0 0

JNEE 0 0 0

#HFE(Ma BEEK 971 481 1,452
HESEME 663 327 990

B 186 58 244

NEE 849 385 1,234

Ha&(Jap BARAE 7 13 20
HEEE 5 7 12

ESF 1 6 7

NEF 6 13 19

B8 (Ko BmASHE 12 8 20
RS 2 4 6

B 10 4 1

NE 12 8 20

o TR 4,179 1,827 6,006
BEEE 1,174 593 1,767

EEF) 1,585 593 2,178
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